Chapter 5
Simultaneous Linear Equations

Exercise 5.1

1.

Solution
)x+y=14

x—y=4
~Xxty=14

x—-y=4

x=y+4
x+ty=14
[y+4]+y=14
2y +4 =14
2y=14-4
2y =10

10
Y =—
2

X ty=14
x+5=14
x=14-5
x=9
x=9;y=5



(i) s —t=3...(1)

S t
54‘;-— (2)

2s+3t=6

_ 6-2s
3

(1) s-t=3

S__(6zfs)::3

S-6=3

t

(i) 2x+3y=9 ...
3x+4y =5 ...

4y =5 —3x

5—-3x
4

(1) 2x+3y=9

Y:

(1)
(2)



2x + 3(5‘43x) =9

8x +15-9x =36
-x =36 -15
-x=21
X =-21
~2x + 3y =9
2(-21)+3y=9
42 +3y =9
3y=9+42
3y=151

=2 =17

wx=-21,y=17

(iv) 3x =S5y =4....(1)
Ox —2y=7...(2)

Ox -2y =7

Ox =7+ 2y

7+2y
9

3x -5y =4
3(7+92y) . 5}’ _ 4

21+ 6y —45y =36

X =




39y =36 21

-39y =15
ZE
AT
5
RARPE
:_i
13
5
x - 5(-2) -4
Ix + 2 =
13
Ix=4 -2
13
3x=22
13
_ 27
13
_2
13
2.
Solution

(i)a+3b=5..(1)
7a—8b =6 .....(2)




6 +8b+21b=35
6 +29b =35
29b=35-6

29
b= 2
29

b=1

a+3b =5
a+3(l) =5
a=>5-3

a=?2
~a=2,b=1

(1) 5x+4y—-4=0
X-20=12y

60x +4x -80-48=0
64x — 128 =0

64x = 128

128
X =—
64

X=2



5x+4y -4=0
52)+4y—-4=0
10+4y—-4 =0
6+4y=0

4y =6

Y =

o

3
2

\
N W

o X = ,y=

Solution
(i) 2x-Z =3 ...(1)

5x—2y—7=0..(2)

8x =12+ 3y

1243y
8

S(22)-2y-7=0

X:

60 + 15y — 16y —-56=0
-y =56 —-60

Y =4

Y =4

6x—-2y—-7=0



5x—2(4)—~7=0

5x-8-7 =0
5x-15 =0
5x=15
X=3
~x=3,y=4

(if) 2x + 3y = 23
5x — 20 = 8y

5x—20
8

Y =

5x—-20

2x+3( )=23

16x + 15x — 60 = 184

31x= 184 + 60

31x =244

244 27
X:_:7_
31 31

2x + 3y =123
244 B
2(31)-+3y-—23



3y =23-22
:E
31
v =225 .
31
_75
31
y =22
31
_ 527 _213
X_731 YT 3
4.
Solution
(i) mx —ny=m?+n? ... (1)
X +y=2m ...... (1)

Substitute (ii) in (i)

L X=2m-y

= m(2m —y) — ny = m* + n?
2m? —my —ny =m?+ n?
2m’ —y(m+n)=m?+n?
2m? — y(m + n) = m*+ n?
2m’—m?’-n*=y(m+n)

m’—n®> =y(m+n)



(m+n)(m-n) =y(m+n)
Ly=m-—n

X=3m-y

= 2m—-m-+n

X=m+n

LX=m-+n

Y=m-n

.o 2 a 2 2

(ii) Xty =a + b
b2y — 424 p2
—Xt+oy=a + b

X +y=2ab

Xx=2ab-y

b a 2 2
.°.Z(2ab—y)+gy=a +b
b _b @y — g2 1 p2
~.2ab-—.y +-y=a"+b

2b2—y(§—%) = a*+b?



b*—a® = y(bzt;baz)

L:
ab
Y =ab
x=2ab-y
x =2ab —ab
= ab

5.
Solution
2x +y=35
3x +4y =65
3x +4y =65
4y =65 —-3x
Y=65—3x

4
2x +y =35
2x+65_3x — 35

8x +65 -3x =140
8x —3x =140 - 65
5x = 75



x=15

2x +y =35

2x +y=235

2(15) +y =35

30+y =35

Y =35-30
=35

s x=15,y=5

X 15
.‘.—=—=3
y 5

Solution
3x—y=5
4x — 3y =-1
3x=5y+y

_ 5+y
3

4(5+2) - 3y=-1
20+4y -9y =-3
Sy =-3-20
-Sy=-23



v o2

5
3Ix-y =35
15x—§=5
15x —23 =25
15x =25+23
15 x= 48
_48 _ 16
15 15
Y=px -3
23 16
Z=p(3)-3
23 _ (1ep) _
?_( 5 ) 15
23 16p
s =5
19



Solution

6+6y

+4y=10
6 + 6y + 8y =20

6+ 14y =20
14y =20-6
14y =14
Y=1

3x +4y=10
3x=10-4
3x=6
Xx=2

Exercise 5.2




wx=2,y=1

(i1) 2x =5y + 4
3x-2y+16=0

5y+4
2

3(22) -2y +16=0

15y+12

-2y +16=0
15y +12—-4y+32=0

11y +44=0
lly=-44
Yy =-22=4
11
Y =-4
2x=5(-4)+4
2x=-20+4
2x =-16
16
x=—=2
2
X =-8



2.

Solution

w3 2
(ix-2y =1

3 1
CRArE

2-1=3y =3y
_2-1
1 = Ty
_1
1—3y
Ly=3
3 2
2X 3 .(3) =
2x =142
4
2x =3
4
3 x4



(i) 2x -3y -3=0
2 1
§x+4y+5—0
2x —3y -3 =0

2x =3y+3

3y+3
2

X =
2 3 1
"ECW+5)+4y+E_O
2 3 1
5 E(y+1)+ 4y+5—0
Y+l +4y +-=0

Sy+>=0

3
5y :-E

s 2x—=3y-3=0

2x-3(=2) = 3=0

2x +— -3=0
10

9
2x = 3 ——
10
30-9
X:_
10
21



3.

Solution

(1) 15x—-14y=117
14x - 15y =115
14x =115+ 15y

115+15
X = Y
14

215 (“S:Sy) 14y =117

1725 +225y - 196y =117 X 14
1725 +225y - 196y = 1638
29y =+ 1638 — 1725

29y =-87

87
y=-2
29

Y=-3

2 15x — 14(-3) = 117

15x+42 =117
15x=117 -42
I15x=75
75

15
X=5



(1) 41 x+53y=135
53x +41y =147
53x =147 —41y

147-41y
53

41x + 53y =135

X =

41(1‘”5‘3‘“'*v ) +53y =135

6027 — 1681y +2809y =135 X 53
6027 — 1681y +2809y = 7155
1128 y = 1128

1128

1128
Y=1
#41x+53y =135
41x + 53(1) = 135
41x =135-53
41x = 82



Solution
.4
H==y—6
3x
T_ 1+y
y =2%_1
4
E=2%_1-6
6 4
£=3_x_7
6 4
X _ 3x-28
6 4
x _ 3x—28
3 2
2x=9x -84
Ox —2x =84
7x =84
84
x ==
7
x=12
X
.g—y_6
12
T YT
Y =2+6



x -7
5 Y 75
v=2_7
5 5
Y = 2x -7
5
2 7 8
x—5(2x-7) =3
4x—14 8
X - _8
15 3
I5x —4x+14= 8§ x5
l11x+ 14 =40
11x =40—-14
11x=26
_ 26
11
26 2 _8
11 37 T3
2.,_2_8
37 11 3
2 _ 78-88
37 T T3
Y:ﬂ XE:i



Solution

1) 9+(x—-4)=y+7
2(x+y)=4-13y
=9-x+4 =y+7
13—x=y+7
Y=13-x-7

Y=6-x
S2(xt+6—-x)=4-3(6-%)
2x +12-2x =4 - 18+ 3x
12=-14 + 3x

3x =12+ 14

3x =26




(i) 2x +=> =2

2x+y
3

3x—2x—-y
3

X—-y=3
X=3+y

X - =1

=1

2(3%_ )%_3+y

6+ 2y +%=2
6+ 2y +%=2

—5 1_
2y =2 -3 6

=2



Solution
(i) 4x + f§2=:17

32x+x-y

=17

Equation (i1) in equation (1)
~33x—-8+3x=136
36 x =136 +38

36x =144

144
X =2
36

X =4
£y =8—3(4)
=812



(i1) given x —3y=3x-1=2x—y

“x—3y =3x—1
3x—x=1-3y
2x =1 -3y
2x=1-13y

2x +3y=1...... (1)
“3x—1=2x—-y
3x-2x=1+y
X=1+y....(>i)

Equation (i1) in equation (1)
2(1+y) =3y =1
2+2y+3y =1

S5y =1-2



—-1+5

X pu—
5
-
5
7.
Solution

Given % +4y =7

+4y=7

:
% L4 (13x—5) _ 7
3

6x

52x—20
=7

x 6x
52x -2 =42x
52x —42x =2
10x =2

2
X ==
10



. _1
@QSX—9—y
X +==3

y

X=3-




Solution

(1) px +qy =p—q

QxX—py = p+q
qx = p+q+py
X:q+p(1+y)
q
) p(1+y) I
cp(a+ET2) + qy=p—q
2
pq+pq(1+y)+qy=p_q
+p2(1+y)
Fe— g’y =pq

q
Pq+p*(l+y)+q’y =pq - ¢



P’(1+y) =-q°-q’y
P(1+y)=-q* (1 +y)
P*+py =-¢*—q’y
P’y +qy =-q'—p’
Yp*+q) =-(p°+q°)
Y=-1

+p(1+
x =1 p(1+y)
q
+p(1-1
x=4 p(1-1)
q
+p(0
<=4 p(0)
q
q+o

N XY
(11) Z_E_O

ax +by =a’+b°

X

a

X:

Y.

SR e



:a.%.y + by =a*+ b?

a? 2 2
7y+by =a“+ b

a?y+b?

(a* +b%)y =(a’+b*)-b
Y=b

a
“X==.b
b

Solution

Given 2x +y =23
4x -y =19

Y =23-2x

L 4x—-23+2x=19

6x =19 + 23

6x =42

42
X =—
6

X=7
Y =23 -2x
Y =23-2(7)



Y=23-14

Y=9
~x—=3y =7-309)=7-27
=-20

v x- 3y =-20

Sy—2x=15(9)—-2(7)
=45-14
=31

S5y —2x =31

10.

Solution

Given expression ax + by
(1) ax +by=7
Whenx=2;y=1

(i1) ax +by =1
When x=-1, y=1



~b=1+a
2a +1+a=7
3a+1 =7
3Ja="7-1
3a=06

o
I
N wWilo

o
I

b=1+2

11.

Solution

Let the number be xy[ 10x +y]
Reverse of that number yx [ 10y + x]

And given that xyloxtyl _ 43
yx[10y+x] 4

10x+y 7

10y+x 4
=40x +4y =70y + 7x
=33x -66y 0

And also given that x +y=12....(i1)



On solving equation(1) and equation(2)
2)-(1) = x+y—-x+2y=12
Jy =12
Y =4
Put y =4 1in equation (1)
=x—-8 =0
=x=8

The required number is 84

12.
Solution
Let the number be xy [ 10x + y] and reverse of number is

yx[ 10y + x]

. 10x+ 5
Given Y =2
10y +x 6

= 60x+ 6y =50y +5x
= 55x—-44y =0

And also given that x —y =1 ....(11)
Put x =y in equation (1)

Sy+5 -4y =0

Y =-5

Put y = -5 in equation 2



=x=-4

= the requires number is 45

13

Solution

Let the number be xyz [100x + 10y + 7]

Given that x =42......(1)

X+ty+z =14....()

and reverse of the number 1s zyx[ 100z + 10y +x]

and given that (100x + 10y + z) —( 100z + 10y +x) = 594

=99x — 99z =594
=99(x—z)=59%4
= x—-7=6.....3)
On solving equation (1) and (3)
4z—z2=16
3z=06
7Z=2

Put z=2 in equation (3) =x—-2=6
=x=38
Put x =8 and z =2 in equation(2) =8 +y+ 2 =14
=y=4

The required number is 842



14.
Solution
Let the age of marina and her daughter be ‘m’ and ‘0’
Given that
m-—4 =3(D-4)...(1)
m+6=2(d +6) ......(2)
equation (1) =m—-4=3d-12

From (3)and (4) 3d -8 =2d+ 6

D=14
Put d = 14 in equation (4)
m=28+6=34
m =34

= the present age of marina and her daughter is 34 and 14
Equation (1) x 12 = 144x + 120y = 1560000
Equation (2) x10 = 100x + 120y = 1340000
(-) (-) ()
44x = 22000
X =5000
Put x = 5000 1n equation (1)




60000 + 10y = 130000
10y =70000
Y="7000
Thus the money invested at 12% 1s 5000/-
10% is 1000/-

15.

Solution

Let the cost price of table be x and list price of chair be ‘y’
Case(i)

Table is sold at a profit of 8%

8x _ 108
~s.p.oftable = x +—=—
100 100

Chair 1s sold at a discount of 10%

: 10y _ 90
s s.p. of chair = y— ﬁ = ﬁ

And given that — + —= 1008
100 100

=6x + 5y =5600...(1)
Case (11)
Table is solid at a profit of 10%

10x _ 110x
100 100

Chair 1s sold at a discount of 8%

. 8y 92y
< Sp of chair = y - m = m

- sp of table = x +



Given that

110x 92y

+
100 100

= 110x + 92y = 102500....(2)
On solving equation (1) and (2) x= 600 y=400

= 1028

= cost price of table is 600/- and list price of chair 1s 400/-

16.

Solution

Let the money had by A and B is x and y respectively
Case(i)

Given that

x + 100 = 75 % (y — 100)

_ _ 375, _
=x+100==2(y — 100)

=4x +400 =3y -300

=4x — 3y =-700...(1)

Case 2

X —100=40 % (y + 100)

= x—100= (4 +100)
=5x—500 =2y + 200

=5x -2y =700 ....(2)

Equation (1) X 2 = 8x — 6y =- 1400



Equation (i1) X3 = 15x - 6y =2100

7x =3500
X =500
Put x =500 in equation (2) =2500 —2y =700
2y =1500
Y =900

~ A and B have 500/- and 900/- respectively

17.

Solution

Let the number of rows be x

Number of students in one row be y

-~ total no. of student = xy

Given (1) if one student is extra in a row , there will be 2 rows less
=(y+ 1) (x-2)=xy

=Xy -2y +X—-2=Xy

(i1) 1f one student is less in arrow there will be 3 rows more.

=(y-D(x+3)=xy
=2y+3y -x -3 =Xy



Equation (i) and equation (2)

Y=5
Put y=35 m (1)
=x-10=2

= x=12
=~ no. of student in the class is 12 x 5 =60

18.

Solution

Let x grams of 18 carat gold is added there the amonts
Of 12 carat gold added 1s (120 — 1) grams

Given purity of gold 1s 24 carat

AX =4 (120 — x). == 120X =2
24 24 24
= 18x + 12(120 - x) . = =120 x 16

=18x +12 %120 -12xx =120 x16

= 6x=120(16 — 12)

120 x4
6

80

=X
. so grams 1s 18 carat gold added with 120 — 80 = 40 grams]
Of 12 carat gold .



19.
Solution

Given A and B both can do work in 5 days

(A + 8) one days more = %

a's 1day’swork

)—\lle

b's 1days work 2
Let A’s 1 days work be 3x and b’s 1day work is 2x

Then 3x+2x = L
15

5x = —
15
75
~ A’s 1 day work =3 X —=—
75 25
B’s lday work = 2x =2
75  37.5

-~ A and B can do that work in 25 and 37.5 days

20.
Solution
Let a men’s rate be ‘m’

Women’s rate be ‘w’

. 1
Given 2m + 5w = ”

1
m+w =—
12



= 8m+20w =1 ...... (1)

=12m+ 12w =1.....(2)

Equation (1) x3 = 24m + 60w =3

Equation (2) X2 = 24m +24w =2
J6w=1

1 man would take 18 days to complete the work .

21.

Solution

Let the speed of train be ‘x> kmph and scheduled time by ‘y’
Therefore length of the journey =xy m

Given (1) (x +30)(y—-2)=xy (i) (x—16)(y +2) =xy

=xy—2x + 30y - 60=xy xy +2x + 15y — 30 =xy
=2x-30y+60 =0 .....(1) 2x—15y—-30=0....(2)
Equation (2) and equation(1)

15y -90=0

=15y=90



Puty=61in(1)= 2x—-180+60=0
=2x =120
x = 60
= the length of the journey is 60 x 6 = 360

22.

Solution

Let speed of boat in still water be x km/h
Speed current be ‘y’ km/h

Time to go with the current 1s 2hrs

40 . distance

=— = time =

xX+y speed
=x+ty =20..(1)
Time to go against the current 1s 4 hrs
20 _y

x=y
=x—-y=10...2)
Equation (1) and (2) =2x =30

X=15
Putx=15 in(1)=15+y=20
= y=5

Speed of boat in still water and speed of current is 15km/h

5 km/h .

and



23.

Solution

Let the speed of boat in still water be ‘x” km/h
Speed of boat current ‘y’ km/h

Time to go with the current is 4 hr. 48mins

=28 min

24
=— hrs
5

=6x— 06y =55.....(2)

Eq(2) +eq(l) x6 = 12x =121

=X = % km/h - speed of boat in still water

L P S
Putx—12 m@ =y =11 >

Y = % km/h — speed of current

24,

Solution

Let the plane air speed be ‘x> km/h and wind speed be ‘y’ km/h
And given that with a heed wind it to 3.5 hrs




On return 1t took 3hrs

1680

3

= x+y=1560 ...... (2)
(1)+(@2) = 22=1040

X =520
Put x= 520 in (2) =520 +y =560
= y=40

Plane air speed is 520 km/h and wind speed 40 km/h

25.

Solution

Let the fixed charge be ‘x’ and cost of food per day be ‘y’

Given that bhawana paid 2600 for 20 days

=x+20y =2600...(1)

And divya paid 3020 for 26 days

= x +26y=3020 ...(2)

Equation (2) and equation(1) = 6y =420

Y =70

Put y=70 1in (1)
=x + 1400 = 2600

=x = 1200

Fixed charges = 1200/-

Cost of food per day — 70/-



Chapter test

Solve the following simultaneous linear equation ( 1 to 4):
. 3

1G)2x-(3)y=3

Sx -2y=17

Solution :

(-

8x—3y
=3
4

8x —3y=12...(1)

5x -2y =7 ...(11)

Multiply (1) by 5 and (i1) by 8 , we get
40x — 15y = 60 (ii1)

40x — 16y = 56(1v)

Subtract (iv) from (ii1) we get
Y=4

Substitute y in (1)

8x -3 X 4=12

8x =12 +12

8x =24



24
X ==
8

X=3
Hence x=3 andy=4

(i1) 2(x -4) =9y + 2
X—-6y=2

Solution
2(x-4)=9y+2
2x—-8=9y+2
2x- 9y =2+8

2x — 9y =10...(1)
X —6y=2....(11)

Multiply (i1) by 2 , we get
2x — 12y =4 ...(1n)

Subtract (ii1) from (1) we get
2x -9y =10

2x+ 12y =-4



Y=2

Substitute the value of y in (1)
2x—-9%x2=10

2x —18=10

2x =10 +18

2x =28

28
Xx=2
2

x =14
hence x=14and y =2

2.(1)97x +53y =177
S53x + 97y =573

Solution :

Given equation are as follow
97x + 53y =177 ...(1)

53x + 97y =573 ...(11)

Multiply (1) by 53 and (11) by 97
53(97x + 53y ) =53 X177



5141x + 2809 y = 9381 ....(1i1)
97 (53x +97y) =97 X 573
5141x + 9409 y = 55581...(1v)
Subtract (iv) from (iii)

5141x + 2809 y = 9381....(1i1)
5141x + 9409y = 55581....(1v)
0x — 6600y = -46200

-6600y = -46200

_ —46200
—6600

Y =7

Substitute the value of y in (1)
97x +53 X 7=177

97x +371 =177

97x =177-371

97x =-194

hence x=-2andy=7



(i) x +y=15.5
X-y=09

Solution

Adding (1) and (i1) we get
2x=5.5+0.9
2x=64

6.4
X:_
2

x=3.2

substituting value of x in (1)
32+y=55

Y=55-32

Y=23

Hence x=3.2 andy=2.3



3.() x+y="Txy
2x -3y +xy=0

Solution :

2x =3y +xy =0 ...(i1)
Divide (1) by xy, we get

X y _7xy

xy Xy xy



Multiplying (ii1) by 3 , we get

+2=3x7
y

+-=21.... (v)

3
X
3
X

< |w

> =20
y
y_5
20
yv=1
4

3y ax4a= -1
X
—ii8=-1
X
~3=_1-8
X
3_ g
X
3
9
x=1
3

Ny

1
Hence x = 3 and y=



(i)
30 44
+
X=y x+y

40 55
x—y x+y

Solution :

30 44
+
X=y x+y

=10...(0)

2+ =13 .G

Multiply (1) by 4 and (ii) by 3, we get
120 176

— + oy 40 ..... (111)
29 4 1%~ 39 . (iv)
x—y x+y

Subtracting (1v) from (ii1) we get

0+——=1

x+y

x+y=11....(v)

substituting (v) in (1) we get
30 |, 44

xX—-y 11

=10



X—y=5..(vi)

Now solve for (v) and (vi)
X+y=11

X—-y=5

Add (v) and (vi)

2x=16

16
== =8
2

Substitute x in (v)
8+ty=11
Y=11-38

Y=3

Hence x=8andy=3



4. (i) ax + by = a-b

bx —ay=a+b

solution

ax +tby=a—-b....(0)

bx —ay=a+b...(i1)
multiplying (1) by a and (11) by b , we get
a(ax +by)=a(a—b)

a’ x + aby = a? — ab ....(iii)
b(bx —ay ) =b(a+b)

b*x —aby =ab +b%.....(iv)
adding (ii1) and (iv)

a’x +aby =a’—ab

b?>x —aby =ab +b?

(@ +b*)x=(a’ +b?)

_a?+b?
a?+b2

X=1

Substitute the value of x in (1) , we get
aXl+by=a-b
at+by=a-b



:—2
Y b
y=-1

hence x=1and y=-1

(11) 3x + 2y =2xy

X y 6
Solution

3x + 2y = 2xy

x Yy

1, 2 .
;+;—— ....... (11)
Divide (1) by xy

3x 2y 2xy
== =2
Xy Xy Xy

3 2
;+; =2 ...(11)

Multiply (i1) by 2 , we get



2 7 .

Subtract (i11) from (iv)

X=2
Hence x=2andy=3



5. solve 2x—(3) —9

y
3x+(§):2

Hence find the value of Kif x=Kky + 5

Solution

2x — (3) =9 ...(»)

y
7\ _ .

3Ix + (;) =2 ... (ii)

Multiply (i) by 3 and (i1) by 2, we get
9

6X — (;) = 27 ....(1i1)

Subtracting (1v) from (ii1) we get

~-£-23
y

23
Y =—
—-23

Y=-1
Substitute y in (1)
2X—(_il) =9
2x+3=9
2x=9-3

2xX =6



X:

N | O

X=3

Hence x=3 andy=-1
Givenx=ky+ 5

Substitute x and y in above equation

3=kx —1+4+5

3=-k+5
K=5-3
K=2

Hence the value of k is 2

6. solve
1 1 1
x+y 2x 30
5 1 _ 4
x+y 3 3

Hence find the value of 2x”* — y°

Solution
1 1 1 .
m — Z = 5 ...... (1)
5 1 .
—+- =-... (11)

x+y 3 3



Let(x+y)=a

1_1

a 2x

11
T o T3 (111)
5.1 _4

a X 3
Multiply (ii1) by 5
5 5 1 :

Z - ; = g ..... (IV)
5,1_¢

a X 3

Subtracting (i1) from (iv)

5 1 1 4

2x x 6 3

-5-2 _ 1-8
2x 6
7 7
2x 6
2X=0
X=3

Substituting x in (ii1)

1

1
2x3 30
1—

6 30



1 1 1
z=(5)+(z)
1 145
2 30
16
2 30
30
3
a=>5

substituteainx +y=a

3+y=5
Y=5-3
Y=2

Hencex=3,y=2
2x? —y?= 2x3%2-22

=2%x9-4
=184
=14

Hence the value of 2x* — y* is 14



7. can x,Yy be found to satisfy the following equation

simultaneously ?

2,319

y x

5_3_4

y x

3x+8y =5
If so , find them
Solution

2 5 ]
S + - = 19 ....(3)
5 3 .
; - ; =1 ....(11)

3x +8y =5 ..(i)
Multiply (1) by 5 and (11) by 2 , we get

10 25

» +— =95 ....(1v)
10 6
7—;—2 ...... (V)

Subtract (v) from (iv)
— =95-2

2 —93



31
X = —
93
1
X — -
3
substitute x in (1)

E)+s@)-1

=4
2
y=3
1
Yy =73

Substitute x and y in (i11)
1 1
3><(§)+ 8 x(5)=5
1+4=5
The value of x and y satisfies (iii)

Hence the given equation are simultaneous .



